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Vi=Vi+ gt 0
s = Vit + g2 0
Vi2=Vi2+2gS o

{2~ F)= ¥ fouF.

Vi = Imitial velocity
WV = Final velocity

s = Displacement / distance

a = Acceleration




t=Time

g = Acceleration due to gravity (10 m/s?)
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Given:

Average speed = 72 km/'h

Distance, s = 360 km

Time, t=7

Formula:

t=5/V

Solution:

t=360/ 72 =5 hours

Answer: &5 hours
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Given:

Vi=0

Vi= 90 km/h = 25 m/s
t=50s

a="7

Formula:

a =Vf-\i It

Solution:

a=25 -0/ 50 = 0.5 m's®

Answer: 0.5 m/s®
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Given:

Vi=5mis

a=15 m/s®

t=56s

V=7

Formula:

Vi=Vi+ at

Solution:

Vf=5+(1.5=58) =547.6 =125 m/s

Answer: 12.56 m/'s
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Given:

Vi=18 km/h = 5 m/s

a=2 m/s?

t=10s

s=7

Formula:

s=vit+1/2 atz

Solution:

s=ox10 + 1/2 =2=x10z  =50+100 =150 ms

Answer: 150 m
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Given:
Vi=54 km/h =15 m/s
Vi=10
s=25m
a="7
Formula:
Viz=Viz+2as |, a=Vfz-Viz/ 25

Solution:

a=0-(158)/2=25 =-225 /50 =-45 m/s2

Answer =- 4 5 m/s® (Megative sign = deceleration)
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Given:

Vi=10

s=45m

g= 10 m/s®

t=7 Vf=7

Ll )
s=1/2qgtz |, 45 =5tz | t2=9 t=3s

G AT
Vi=Vi+gt =0+10=3 =30 m/s
Answer: t= 3 5, Vf = 30 m/fs
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Vav=Total distance / Total time =10800 /700 =1543 m/'s

Answer: 15.4 m/s
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Given:

Vi=0

t=56s

g= 10 m/s®

s=7 V=7

(i) Height:

s=1/2gtz =1/2x10=25 =125 ms

(i) Final velocity:

Vi=Vitgt =0+10x5 =50 m/s

Answer: Height =125 m, Final velocity = 50 m/s
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Given:
t=3s

g= 10 m/s®
Vi=10
Vi=7

5="7




SR,

ViEVi+gt L 0=vi-10=3 | Vi=30 mis

1 S
P e (22E i)

s=vit+1/2gtz =30=3 -5=x9 =90-45 =45 ms

1+ 45 = 46 m=gak o -2
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